STAGING

Signature Stage Deck Instructions

SO R e T T B A S R W R TR T R

i1 <
| e
'%.'
S 7
o
|

Gmm

INDUSTRIES

1



( STAGING

Site Preparation
-Determine the exact location where the stage will be erected.
-For outdoor stages, mudsills are required to distribute the weight of 125psf on the
stage legs. This will prevent the legs from sinking and ease the leveling of the

stage.
-All base pads and mudsills should be placed only on a horizontal surface.

Leg Assembly
-The leg sockets on the stage sections fit 1-3/4" square stage legs

Assemble legs as shown either as illustration #1 or #2, the telescoping legs must not exceed the 6" minimum overlap.

4=
o |*
o |t
o |*
o |t
o|*
|
16 @ e
olr 1-3/4"x1-3/4"Le, \ .
Y 9 \ 5 2 Minimum
E E \\: 2| Overlap
S| s ——1-3/4"x1-3/4"Leg
o) A~ MM
=l & - s
& | H 3:
| sl &l AL
eyl % o (! i
L—— Snap Pin —" N oK S
’ MK °
: ot @
1-1/2"x1-1/2"Leg : 18l Snap Pin- °
o e Y s
') o |? . £
| — Snap Pin * ot )
: ? g N éﬁ:f» .
l °
W aL, 1
-Ad justable Foot - /
Ad justable Foot
Telescoping Le Non-telescoping Leg
Illustration # Illustration #2

Optional Long Foot



STAGING

Setting the Stage

-Insert legs completely into all four corner sockets on first stage section and tighten
thumb screw which holds leg into deck.

eeeLLOOOOO0CON

Insert leg into stage socket
and tighten thumb screw which
is located under stage deck.




STAGING

Setting the Stage continued

-Set first section in back left-hand corner of stage area. Note: any corner may be used
as s starting point. (the first deck is referred to as the starter deck)

-Align the stage section so that the connecting fingers are to the inside and the smooth
sides are to the outside of the stage area.

-Set back row of stages first.

-Insert two legs into stage sections as you work your way along the back row, attaching
each deck to the previous one back setting them together using the connecting fingers.

-Upon completion of the back row, begin the second row with one section with two legs.

-To continue the second row, insert one leg into corner socket, then set the deck into
the connecting fingers onto both deck.




Yk

C STAGING

Locking Stage Decks Together

Optional Retalock Taools
=,

T

A
—~
!
|
Insert 5/16" T-Handle wrench
through the top of the stage deck
and Iaca stages together by rotating
the cam loca clockwise.

5 T. Extended T-Wrench
32" Long (5/16" Allen)

tendard T-Wrench
(5/16 Allen)

Other Means of fastening Stage Decks Together.

3/8x1"Long Bolt and Lock Mut
Thru Slots on the Stage Decks.
Two Bolts per Deck



Diagonal Bracing

F A
k- STAGING

Diagonal - Diagonal
Starter Brace | Contiuous Brace

453/4" " g - 48"

4'x4" Stage Deck

Diagonul bracing is required on stages
with heights over 24", Brace each corner
and every third bay along each side.

Internal braces should be placed in the same
row as perimeter bracing.

Double diagonal bracing should be used

on heights over 48". At least one of the braces
should span the connection between the 1-1/2"
and the 1-3/4" telescoping sleeve.

Brace attaches to stage legs with
one snap pin on edch end



~

Diagonal Bracing
Top View

STAGING

20-0"

e

O * Eontirusus tracd O]

| Contmusstred ©

b ) 3|
o . |2 5
:v i :
© of ol ©

e

Eontinuous Brocd

.@.

Eontinuous Bracd

e

Eentinuoys Brace

Cantinyoys Brace

16

race

ontinuous

Eontinsouz Bracd ©) |-

 Brace

Eonfinucus

Fentinyoys Bracd O

.~




.r'll('.-.
k- STAGING

Stair Handrail

\ 3/8" Wingnut
\ 3/8" SAE Washer

3/8" SAE Washer \

/ 3/8" Wingnut
3/8"x2-3/4" Long Bolt /

3/8" SAE Wash
°“/— asher

Handrail Post
(PN: 85125)

\— 3/8" Wingnut
\3.-‘8"xl' Long Bolt /

3/8"x2-3/4" Long Bolt

3/8" SAE Washer
3/8" Wingnut

3/8"x1" Long Bolt

Handrail Post
(PN: 85157)

12



( STAGING

Stair Installation

STAIR ATTACHED TO 45-3/4"LE6 SPACING DECK

Hardware is the same for both sides of this setup.

3/8" Wingnut —,

3/8" SAE Washer —

3/8"x4" Long Bolt ~_ 3/8" SAE Washer &

3/8"x4" Long Bolt — >-3/8" SAE Washer

STAIR ATTACHED TO 48"LE6 SPACING DECK

L~ 3/8" Wingnut 28

378" SAE Washen ~3/8"x4" Long BolT (2pes)

- 3/8" SAE Washer (2pcs)

This side mounts thru
the rectangle tube.

3/8"x2-3/4" Long Bolt —_

3/8"x2-3/4" Long Bolt —__

~~3/8" SAE Washer

T——3/8" SAE Washer

13



